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1) For what does the woman bring a 127p?

7"02

2) On which day after the (original) birth does she bring the 29 (for a 7ap1)?

3) Which other 1>7 also applies to this day?

4) If the woman had a miscarriage (") before that day, what is the 17 in regards to the 727 for

this second “birth”?

5) Explain the 7 if the miscarriage happened from that day (Q#2) and on?

6) In which case is there a np12n between w'"a and 7"2?

7) What is the np1onn?

8) What is the first claim of 3"2 against the opinion of w"2?

9) Explain the second claim of 5"2 against w"2?

10) (How do w"a answer these claims of 5"2 (*"w")?

11) What is the question based on this mwn?

12) What is the response of the X111 to this question?
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